Fall 07 /MAT 150/Worksheet 7 Name: '5‘76"%‘?‘“

Show all your work.

1. (4pts) Evaluate without using the calculator:
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3. [(4pts) Write as a sum and/or difference of logarithms. Express powers as factors.

Simplify if possible.
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4. (dpts) Write the lollowing as a single logarithm. Simplilv if possible.
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5. (Ipts) Compute the following number using vour caleulator. Show how vou obtained
your number,
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6. (opts) Solve the equation:
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7. (Gpts) In 1999, Spurt City was recorded to have 10,000 residents. In 2007, records show
it had 18,000 residents. Do the following, assuming the growth was exponential.

a) Find the growth rate. Write the function that expresses the population ¢ years from 1990.
b) Find the population in 2005.
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